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QUESTION 1

Which two events can initiate a trigger on a table? (Choose two.)
A. DROP

B. ALTER

C. INSERT

D. SELECT

E. TRUNCATE

Correct Answer: CD

QUESTION 2

Which two installation modes are available for Informix? (Choose two.)
A. Full

B. Typical

C. Custom

D. Compact

E. Complete

Correct Answer: BC

QUESTION 3

Which of the following Informix server modes disable execution of SQL statements for all users while allowing
administrative users to perform maintenance tasks?

A. Offline

B. On-Line

C. Quiescent

D. Administrative

Correct Answer: C

QUESTION 4
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Which of the following statement is correct about Shared Disk (SD) secondary servers?

A. SD secondary servers support automatic index repair

B. SD secondary servers use paging files to track pages between checkpoints

C. SD secondary servers require an HDR secondary server to be present in order to function

D. SD secondary servers can become a High-Availability Data Replication (HDR) secondary server

Correct Answer: B

QUESTION 5

Which one of the following is a characteristic of a Decision Support System (DSS) or Data Warehousing environment?
A. frequent writes

B. frequent updates

C. uses query parallelization

D. typically uses memory resident tables

Correct Answer: C
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